
 بالطلا
 يف

 تاعماج
 ةفضلا

 ةيبرغلا
 عاطقو

 ةرغ
ح
س
ب
 

 ءاضقلا
 ماعلل

 يساردلا

١98١ 
1
4
‏
 

 ‏“٠
 ةدفاعنمو

 ريب
 تير

0
 

0 
2
 

 ةزغب
 م

ا
 

ا
 

 ا
120 

س
س
 

9 

 مركلوط
 ‏.١

07 
3 

55 
4 

 سلبات
 ‏١

 فخ
15 

- 
6 

 مار
 هللا

ة
ا
 

15 
 م41

- 
3 

 سدقلا
,+20 

8
 

6
 

0" 
- 

| 
 تيب

 /محل
 احيرا

 ‏٠
9 

 م1
- 

 ‏١
 :”ليلخلا

 هل
 في

 ليدل
0
0
0
 

 ‏١6
 يب

 ةزغ
 مغ/

ب
 

08 
 نلكمادلا

 ؟0/
< 

| 
 .«ليلجلا

ْ 
 قفز

- 
0 

55 
 نم

 *جراخ+
 .نيطسلف

 ‏1١
- 

- 
3 

- 

 ريغ
 نيبم

01 
0 

- 
35 

32 
3 

0 
 عومجملا

 ماعلا
 لضم

| 
| 

 لتفس
0
 

 مو
 كا

* 
 مه

 ءانبا
 ةذتاسالا

 ريغ
 .نيينيطسلفلا

,
5
1
7
 

 ابدإا
 ا

1 
: 

 :ردصملا
 .م.

 .ت
 ..ف

 ةرئادلا
 «ةيداصتقالا

 .بتكملا
 يزكرملا

 .,ءاصحالل
 ‏154١,

 لودج
4/ 

271 
ص
 

 ‏5١.

١
١
 ‎؟ 


